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o Q=K 7 Q<K
i O>K o
1 (2017 )
3 1.0 L
1
N,(g) +3H,(g) =—=2NH,(g) AH<O
( ) o
1
- NH,
N, H, NH, /mol
I 13 0 ocl 1.2
I 1 3 0 uz a
1 2 6 0 a b
A o >a,
B NH, b<2.4
C II
I
D. I

0.1 mol N,.0.2mol H,.0.2 mol NH,

A I
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o, >, A ; B
NH, b I
i1 2.0 L
NH, 2.4 mol I
1.0 L I
I NH,
b>2.4 B ; C
Il | Il
I C ; D I
K:
N,(g) + 3H,(g)==2NH,(g)
1 3 0
0.6 1.8 1.2
0.4 1.2 1.2
K=1.2°/(0.4x1.2% =1.736
I 0.1 mol
N,.0. 2 mol H,.0.2 mol NH, c(N,), =

0.5mol/L.¢ (H,), = 1.4mol/L. ¢ ( NH,), =

1.4 mol/L Q=1.4/(0.5x1.4") =1.020
<K D o :B.
2.
2 (2017 )
. co
CO(g) +H,0(g) ==H,(g) +CO,(¢g)
2.
2
/°C 400 500 800
K 9.94 9 1
(1) .
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H, Cl HCI
214437
( 1
HCI o ) o
4.

H, + Cl,—=2HCl

o

C1, +2NaOH ==NaCl + NaClO + H,0

N

B mol s L' . . N
2% . ’
250 mL N N N
1. ’
2. ’
5.
3.
( ) e
1/3 & 6.
2 mL
>
[ 500°C CO(g) +H,0(g) ==H,(g) +CO,(g)
o T !
cO H,0 0.020 mol * L 0.02 0.02 0 0
[ole} o (mol/L)
(1) _ x x x
K_ C( COz) . C( Hz) ( mol/L) .
c¢(H,0) - ¢(CO) 0.02-x 0.02-x « x
(2) (mol/L) :
K XXX _ _
(0.02-x) x(0.02-x) ~° o
.01 .01 .02 x1 =
500 0.015 CO 0.015/0. 02 x 100%
75% o ( 2017 -05 - 18)



